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Foundations for College Algebra
University of North Georgla

Fall 2016

Exam #1

For full CLedit__ALL work must be shown NEATLY on the exam. Ten points will be deducted off

the top for

FOLLOW DIRECTIONS!

Messy. work! Any “valid” checks are worth an additional point per question.

1. Use the chart below to place a check mark indicating which set(s) the item on the left isa

member of,
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2. True or False? Support your answer for full credit by deécribing the “meaning” of
exponents,
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3. Find the sum of the following:
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4. Simplify
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5. The formula F = 1:—6' + 32 changes Celsius temperature to Fahrenheit temperature,

A,) Solve the equation for Celsius and B.) Find the temperature if Fahrenheit is 43
degrees round to nearest tenth,

e ¢ 4 /B0 7

I's
G

‘ = PO e S I
’/h - /690 2

T
SR L0 o ZZ e e

7

/0 Wﬂ'%

1
—F / 5% <
£ 5 = sy, / g o= 3 W ?(

—— = R )

- -2, e s

e ")C, (/0 -*.J%)

v T TR A
o

77

‘}
GRS 10K = FK

/9

S




7. Below is an equation which is being solved for "x" . For each line (a, b, ¢, & d) an
Algebra Power Tool was used from the line above it. Determine and then state what Tool

was used to generate the result of each line.
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8. Use Order of Operations to simplify and determine which value is larger.
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10. Solve for x. Lf( W) q(( Q( ())) (ﬁ(r‘; {"7))
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11. Rewrite the following using the Distributive Tool: aby — 3b + Sxby — b?
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12T x = —= and 22 % X equivalent equations? Support your answer by showing your
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13. If two numbers are added and the result is zero, what Algebra Power Tool was used?
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5 4+ (-5)=0

14, Solve the following equation by using and stating the “correct” Algebraic Power Tool
for each new line you write as done in class. Hint: pay close attention to what tool you
select!
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15. True or False: does simplify to x + 37 Support your answer.
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